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y&g’ﬁnv %’Lﬁt(}k gl-—~.»£1/[)("f'c_
= Y = — KRbh(x)|+ Cx



“ golvdng-
Geverel Bocedure for’ b = ¢4

Aler substotutlon V=35 _ hn becomes
x-é&-l— vV = &{v)

il SRS

%zvexap—.fefamue OD& <Fm~ Grlv) Given Idhe
problen A separalle 00
Gops 1 (1) Witke ODE ko He Jorm (1) J
(¢i) l/{se;z@ﬁ(im o —haanm () dndo (1)
> U = X
(i) Solve ) (Buf tq%v%z, e solutbp > M fems of 5\
(ry) Bxprass dhe onswer i Herms QC' Of-?ﬁamzl Vartdles ’

X od Y
“wa\:ﬂg 5 Solve 'z(g({ha%x’)dx— X*dy =©
-- dl) =0
Solibton + Wik 4he ODE: by dhe o 24 (1)
R e
Substrubion V= ﬁ;;— .
K4t U= VU




LA = v
e = &

5o = an (dlxl < C)
W‘@ M V= %( back Ao dhe equablen above
—& don (x| = )
| #’ = X o [ Alx] + C)
72) solve 4he VP _ "FL% 2n AN=|, Y=0 .

0 = | (i +C)
'_ O = Jan(c)
= C=kn , kR & o dleger "
I (Wiggeewwtw e
S0 Y= XA (x| bkn)
e Sl 2ol S A1
= o (Brlx})

= Y= Al ()

For owr IV Yl) =O , we M&Mereo"aa( a\u%e,éo/u(vbz\
| Conbadndg. K= | . Notdce Hhat —olx| 3o So=swf nof



Not vequiveol dnHhs ¢ lass
wed-defresl ot X=0 . T % ak&\w{ fduow l4 on

::L—-DO, 0) or (0,4X) | T a moe rigoreus Wolf . We
| Should cheose Ao Mterval cout A& X=]. 3.e (o.tev),
a/wﬁ WYé}"e, 4‘1@/ 5010:1-:}94 as

2. €tk Bernonlls Ty

) ‘%““f PLX)H- Q4™ . nfo_nél

JQC n=0or |. W(S)%az@awrf)p&, So wo
Fave mea%»ieameo( Aow/ o solve St .

e ODE v)»%o—(zaq%nn 2 (5) 2 wua/éfe;«%
- '-g:;:++x +3=0

- 0}‘@ +.Lx_—+>< , S0 n=3,

| (Nobe dere X o Ahe leyeclet Uah%;llaona( + 22 dhe
z&\D(EFM an?aiz@)

How 4o solve op& by ”‘ﬁ‘? substddion | = %Im

Bl 1 Sobe sy = - Sxy?




Use subskohdion V= 47 . Hea

B St a3
Lo (6) becomes

| T_\—{%‘?;C—SV"“"ETX < op&
Now we ge{‘ox «(/bnear O Cmc/ we_ Ccaa solve f |

—%&+[0v=—5x

X

o™ 401 0™y - sx el
X oX

-j;(Lv ) = sx ¢

L
V o \[Sx e

foX
Ve =  Lxe™-de¥rc
- o
Vo= b - 4y e

5@64%1&& back. V= 4™
I %-L____ _é__’x__ 315 = C&_{Ox,

Noﬂ‘ixe, we. divade L{f- %—3 Ob(’*%e'LegMJ\ﬂ. which = ang.
\orreck whea Y220 . K Y320, 30, Y=0 oae can theck
i 2 also o solubien . S0 Hhe selstdans %&#e, o0& are ;

[ d=0 . 47- Ix-Fe (X



Greneral Procedure Jor soboig 2t P Yo QY

dowedng by 41 Y-+ P 4T Q) ()
(lse substshehba | = Yy |

L O
0 {1) ecomess

e dp e PG
Sohve st anel express Hhe ol answer 2 ferng af x awly.
Lo, e
ol Besnoulls equatbn . n=32
Do b & g (g = ™ e
ubsfohaton U = Yty

e

50 (8) Lecomes
-4 A — v = e

_Eg\_d + 22U = —_le/zx
o de- iy - B

4z ¥y = —e®™



v = — L™y
| V = - Le™e ce™X oyt
e we are G&”Ia}oUﬁ_ L& gs . We ree™
L also need 4o check =0 3.e. Y=0.

| can be versfred Hed 4=0 Sy oo solutba af Hhe ODE
50 . oncdusdn ;. we Lave soluflons

Y=0 . Y= =L (%

DO not <(m@\°/+ tonstand solutlon {«! = (er Beraoulls E@M)@m“



